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Excel

X1 — X,
— — L=
t BT MESEFIEOHENRTE  BRREEFES S 1 N 1
- - P\ny  ny
=28 1 g 2
Mz 1€ i . 2 2
i@ Sk 11.6 10.9 , (Tl1 _ 1)51 + (nz _ 1)5'2
PR | 0.711111111 0.544444444 Sp =
5 EEY 10 10 (ny =1+ M- 1)
Pooled ERE2 0.627777778
REHI98 = 0 Minitab
BHHE 18
t #aET 1.975513824 Two-Sample T-Test and CI: Cl, C2
P(T<=t) EE,\ 0.031873138
BERME : BF | 1.734063607 | Two-sample T for Cl vs C2 Hy: py = uy
P(T<=t) ®E | 0.063746277 . y . .
— . g N ean ev ean
e 8R] 2.10092204 | o1 15 11.600 0.843 0.27 H,: uqy # Uy
\ c2 10 10.900 0.738 0.23
Bkt T 2 P-value & _H Difference = p (Cl) - u (C2)
E P-value z. & £ o Estimate for difference: 0.700
— v 95% CI for difference: (-0.044, 1.444)
T-Test of difference = 0 (vs #): T-Value = 1.98
P-Value = 0.064 DF = 18
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Distribution Plot
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Distribution Plot

T, df=18
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Two-Sample T-Test and CIl: C1, C2
Two-sample T for Cl vs C2
Hy: =
N Mean StDev SE Mean 0 H1 H2
CcCl 10 11.600 0.843 0.27
c2 10 10.900 0.738 0.23 Hy: py >y
Difference = p (Cl) - u (C2) .
Estimate for difference: 0.700 ﬁ '}J g T’&'ﬁg T
95% lower bound for difference: 0.086 R S T 4
T-Test of difference = 0 (vs >): T-Value = 1.98 g
P-Value = 0.032 DF = 18 /
Two-Sample T-Test and Cl: C1, C2 f
Two-sample T for Cl vs C2
Ho: py = pio
N Mean StDev SE Mean
Cl 10 11.600 0.843 0.27 H <
C2 10 10.900 0.738 0.23 a' H1 = H2
Difference = u (Cl) - up (C2)
Estimate for difference: 0.700
95% upper bound for difference: 1.314
T-Test of difference = 0 (vs <): T-Value = 1.98
P-Value = 0.968 DF = 18
TR WAL BT 2021/10/20 10
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Test and CI for Two Variances: C1, C2

Method
Null hypothesis

Alternative hypothesis

Significance level

F method was used. This

(C1)
(C1)
0.

5

method is accurate £

normal data only.

Statistics
95% Lower
e —_— A — . L e - - -
FIRE  MERESESEHARE | | Bound for |Minitab ¥ ™MK T x k&
Variable N StDev Variance StDevs .
c1 10 0.843 0.711 0.615 | gv + k
; ; Cc2 10 0.738 0.544 0.538
28 1 28 2 7 7
qztggﬁ 11.6 10.9 Rat%o of stagdard deviations = 1.143
_ Ratio of wvariances 1.306
EEH 0.711111 0.544444
C ) . 95% One—-Sided Confidence Intervals
Eﬂg{g‘ﬁ%‘l{ 10 10 Lower Bound Lower Bound
= for StDev for Variance
E E”_R_ ? ? Method Ratio Ratio
F 1.306122 F 0.641 0.411
p(F<=f) EE |0.348608 Tests
: =o . Test
mTE ER 3.178893 Method DFl DF2 Statistic |P-Value
F 9 9 1.31 0.349
Distribution Plot
2. _ —
ik Fie>10] TP (F <= f) ¥ E | . F, df1=9, df2=9
REF Afe? 2 FE2ZHF (dok 07
0.6
/.
]}IJ) > 0.5 v
E2 Y 2
£ 04 I«LL T fe
© 03
hod F g <1’E' rP(F<:f)EE/;'@J 02 —
i %\ F & ﬁ‘* 3 FoE B Z_ ’}}&—ﬁ 0075 1.306
X
— &0
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Paired T-Test and ClI:

FALPRER &R R
=~ ¥t T
A B
4 2
8 6
14 13
16 15
22 23 GRER S N S
26 27 TR LANERER
34 32 iz * two sample t
37 35 BT E R At
46 45 e T_o
49 49

FA R Ac % one
sample t #& T & {7 = %
t¥s 2o

TEXRE-EHE I

A, B

Paired T for A - B

N
A 10
B 10
Difference 10

StDev
15.56
15.87
1.197

Mean
25.60
24.70
0.900

SE Mean
4.92
5.02

0.379

95% lower bound for mean difference: 0.206
T-Test of mean difference = 0 (vs > 0): T-Value
= 2.38| P-Value = 0.021
t BE  HEESEFEEEESRTE
%% 1 %% 2
EHE 25.6 24 .7
Z2EH 242 2666667 251.7888889
BEEER 10 10
EEFEEER 0.99728409
FREaeag= 0
=HE =
t #at 2.377217447
p(T<=t) EE 0.020708075
[BRE . ER 1.833112933
p(T<=t) B 0.04141615
BRE.EE 2.262157163
|
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